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b) The vertex is on the y-axis. When ¢ is positive,
the vertex is g units above the x-axis. When q is
negative, it is ¢ units below the x-axis.

2. a) iii b) iv c) ii d) i
S.a)y=x*+5 b)y=x2 ¢ y=x-2
dy=x2—-6
4. a) i) up if) 0, 1) i) |
b) i) up i) (0, —4) iii) —4 iv) +2
c) i) up ii) (0, 3) iii) 3
d) i) up ii) (0, —6) iii) —6 iv) +2.5
5. a) i) up ii) (0, 5) iii) 5
b) i) up ii) (0, —3) iif) —3 iv) +1.7
¢) )up i) (0.2) iii) 2
d) i) up ii) (0, 4) iii) 4
6. a) b)
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Y= 2l n= ?—;3_
7. ay=x2+2 b)y=x2-9
Ay=x2+5
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2. a) When p <O, the graph of y = (x — p)*is to

the left of that of y = 2.
b) When p > 0, the graph of y = (x — p)*is to

- the right of that of y = x2.

3. a) iii b) i c) iv d) ii
4. a) y = (x + 202 b) y =(x - 32
Ay=(@x+4? dy=@x-52
5. a) i) (-2,0 MNx+2=0 iii) up
iv) 4 . ’
b) i) (—1,0) ii)x+1=0 iii) up
iv) 1
c) i) (3,0) ii)x—3=0 iii) up iv) 9
d) i) (4,0) ii)x—4=0 iii) up iv) 16
6. a) y = (x + 2)? b) y =+ 1)
AQy=@w=-32 dy=(@-42
7. a) i) (—3,0) Hx+3=0 iii) up
iv) 9
b) i) (8,0 iH)x—-8=0 iii) up iv) 64
c) i) (2,0) ii)x—-2=0 iii) up iv) 4
d) i) (—4,0) ii)x+4=0 iii) up
‘iv) 16
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RUADRATIC FUNCTIONS
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b) The parabola is expanded more:
as a increases when a > 0; and as a decreases
10. a)y=(x—4)1 b)y=(X+3)1 when a < 0.
Qy= (-7 2. a) iii b) ii c)i d) iv
11. a) b) _ 3. a) b)
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4. a) y = 22 b)y = —-x£ c)y=—41x1
d) y = 6x? )
S5.a) y= =252 b)y= gxl Qy= %x’
d)y = =3«
6.y = éx’
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